Yo--..0becné feseni
Yp....tvar partikularniho feseni (Véta 12.11.)
A, B, Cy, (s....realné konstanty

Al.
Yo = C1” + Coxe® + Caz?e”
A2. .
Yo = 5641 + Cre™ + Coe™
yp = Aet®
A3.
Yo = x6” — 2 — 2% + C1e” + Che™™
yp, = Aze® ay, = A+ Bx + Ca?
Ad4.
= isinaz—l—icosx—l—(}’ e’ + Coe”
Yo = 10 10 1 2
yp = Asinz + Bcosx
A5.
x{c+x+1 (22) 5 in(2z)| + Cye™ ™"
o =€ — 4+ —cos(2z) — — sin(2z e
Y "6 a0 10 ’
2¢?sin?z = e%(1 — cos(2z))
yp = Axe® a y, = e"[Acos(2x) + Bsin(2z)]
AG6.
L2 1
Yo = € | — — —sin(2z) + Cy + Cox
3 4
yp, = 22(A + Bx)e® a y, = e"[Acos(2x) + Bsin(2z)]
AT.
L ing b = sin3a 1 Cre® + Coe® + Cae®® + Cye ™
o = ——sin — sin
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sin z cos 2z = 3 [sin(3z) — sin 2]
y, = Acosx + Bsinx a y, = Acos(3z) + Bsin(3x)



